Camshaft Assembly

ITEM NO.

PART NUMBER

Default/
QTY.

Camshaft Lobe 1

]

Camshaft Lobe 2

Camshaff Lobe 3

Camshaft Lobe 4

Camshaft Lobe 5

Camshaft Lobe 6

Camshaft Lobe 7

Camshaft Lobe 8

Camshaft Lobe ¢

Camshaff Lobe 10

Camshaft Lobe 11

Camshaft Lobe

Camshaft Lobe

Camshaft Lobe

1
12
13
Camshaft Lobe 14
15
16

Camshaft Lobe

Cam Gear

Cam Bearing Surface 1

Olmi~N|loc|lo|le|lw|n|=|o|@|®@ |0 O~ M=

Cam Bearing Surface 2

N
O

Cam Bearing Surface 3

[N

67022z Bearing

]
]
]
]
]
]
]
]
]
]
]
]
|
]
]
]
4
]
5
5

Mo
R

M3 x 175mm Threaded Rod

|

el
o8]

m3 nut

R
I

M3 8mm Set Screw

Step 1

s

Make sure grooves are alligned.
Glue parts together or apply
permanent thread locker or
super glue to nuts.

31



Make sure grooves are alligned.

Check dimensions of cam

assembly and apply extra

thin super glue to mating

glue to nut

| 1.16
29.4mm

Make sure grooves are alligned.

Check dimensions of cam
assembly and apply extra
thin super glue to mating
surface and hex nut.

1.61
41.0mm

32



Make sure grooves are alligned.

Check dimensions of cam

assembly and apply extra

thin super glue to mating

surfaces. Do not Opfly
glue to nu

| 2.70
68.5mm

Make sure grooves are alligned.

Check dimensions of cam
assembly and apply extra
thin super glue to mating

surface and hex nut.

3.15

80mm

33



Make sure grooves are alligned.

Check dimensions of cam
assembly and apply extra
thin super glue fo mating
surfaces.

Do not apply
lue to nut

4.24
107.5mm

Make sure grooves are alligned.

Check dimensions of cam
assembly and apply extra
thin super glue to mating

surface and hex nut.

4.69
119.1mm

34



Make sure grooves
are alligned.

Check dimensions of cam
assembly and apply extra thin
super glue fo mating surfaces.

Do not apply
lue to nut

| 5.7 ) (19)

146.7mm

Make sure grooves are alligned.

Check dimensions of cam
assembly and apply extra
thin super glue to mating
surface and hex nut.

Do not glue cam
ear to cam.

llign cam gear
and install set
screw.

6.91
175.5mm

35





